THAT 99497 (Model question)

FET: 10 quITEF 75
fore © it THY © 3 HaT
T geme® Atard 3 | (All the questions are compulsory.)

1. 7 qReT AreAtad faEmeradr w10 A srEEeRa fqandiewdrs 9wy, e 7 SamHed &
SIS $ieTeh U ST SIIHT g7 THT TRURT TILATAT 40 AT GIERT, 30 ST AT T 45
SIS ETH ST S9YEd & aaT | 3 FeqTeT 15 ST fqaneiiesse de el 315 U9 g aaras]
5 ST % T 5 =Fad WA | In a survey conducted on students studying in grade 10 at Shree
Sharada Secondary School to determine suitable place for educational trips among Pokhara,
Lumbini and Ilam, it was found that 40 students considered Pokhara to bégnitable, 30 students
considered Lumbini to be suitable, and 45 students considered Ilamsto.be suitable. While 15
students of that grade said that all three places are suitable, 5 sfddents did not express any
opinion.

(@) P, L ¥ I & U 916, qiael 3 3orq SUga grg 9 faardiessdl Juedrs Shres 9"
T 1S IAH g7 T~ [Tl THEdTE TUMATHHAT I dT Jeterd |If P, L and I denote the
set of students who prefer Pokhara, Lumbini andM]am respectively, write the cardinality

notation of students for whom all places are suitables [1K]
(@) HAHT ATHFATE HATATHT T&T e Show the above information in a Venn diagram.
[1U]

(1) YTRET ATATHE [qamaad T wem 10T ST faandl Heqaa=a Wa 7 T0Er T e« | How
many students are studying in grade,10"in the Sarada Secondary School? Calculate it. [3A]
(%) ATE FALTAT T T AT AREI S TAT anier At IIgad T 81 Rl 9T GERT A/
ST T T ¥ AT qARSIIHR &1 I faamiiges! o d1d &iq g+ &ar 7 If S students,
who did not express their(opinion in the survey had said Lumbini as a suitable place, then what
would have been the €atio of students who considered only Pokhara was the suitable place and
only Lumbini was the'suitable place? [1THA]

2. fafamer 2 ader @it ¥ 1,00,000 F TSAT SYHAT THET T4 A6 S | S5l Taad 10% =T
STSETHT Tl [afaeerrs deier [aeeqes (@Mt =IHd AT, Adaitie =wHd =are T FTHHE
=I%h1d =TsT) f4UT @ | Bipin wants to deposit Rs 1,00,000 in a bank for 2 years. The bank offers
10% per annum compound interest with three alternates (annual compound interest, half-yearly
compound interest and quarterly compound interest)

(&) HIIRT A faFeaHqed &7 faded TN Tl [T J6l &S 9 876 7 defard | Which
option among the three alternatives helps Bipin get more interest? Write it. [1K]

(@) IS 2 AUH! T AIATNEF AT ATTATAR A Ah1A [T 9T T T3 7 How
much amount does he receive after 2 years from compound interest compounded
semiannually? [2U]




) fafeaer 1 ausr s A =rgra s ST AR ISl AUH ST IRH ReT g Fmifas
T TS I3 TR AT AATTHI ATNT STEAT TG A AIAT FHiq IHH I3 7 At the end
of 1 year, if Bipin withdraws the total amount received according to the semi-annual
compound interest and deposits it for the rest of the period to get quarterly compound interest,
how much amount will he get at the end? [2A]

. AT SATRET 9UHT T 1,00,00,000 1€ %, 30,00,000 F FR T % 70,00,000 H ST fFAS |

2 YA FRFI A AMGE 5 % HT WA TSI g1 ga TG A9 STl Jed fafe=ra gfeqeraet

1T F1g g4 TUHT T | Sajan has Rs 1,00,00,000. Sajan purchased a car for Rs. 30,00,000 and

land for Rs. 70,00,000. For 2 years, the price of the car has been decreasing at a compound rate

of 5% per annum, while the price of land has been increasing at a certain compound rate.
() FIHA g [T g w&elerd | Write the formula to find compound depreciation.  [1K]
(@) 2 UG IHT FRFPI oI Hd e, IaT a6 | What will be te’price of car after 2
years? Find it. [1U]
(1) 2 FUAMG HR T STMHN STHEAT I %, 1,05,72,700 FAT AT STMFPHAAT Fiq IATTRT A0
g TR @@, TMOAT T | After 2 years, if the totakprice of land and car is Rs
1,05,72,700 then what is the rate of compound growthdéimnhe price of land? Calculate it.
[2HA]
. FATUTE fa3eT ST AT STHCEHT SAR ATad a5% TLNIHT [GA%I 3T faHy TATAR STHIKHH
T 1 # @RE X 7.% 131.05 7 [F&T ¥ 7.5 13165 @ | Pravin went to the bank to exchange
US dollars in order to go abroad. Accordingite*the currency exchange rate on that day, the
buying rate of 1 US dollar was Rs.131.05-dnd the selling rate was Rs. 131.65.
(%) T 9T AT 1,57,980 HT LTI SAX FTeaT Hid ga¥ IrssA ‘How many dollars
will he get in exchange of Rs 157,980 Nepali rupees ? [2A]
(@) FATT ERTAT BRI [q9T Sk, TIHF TGS, FIal {67 I ATEhT SARATE i TqTeAl Sgar

91T e 7 How many\Népali rupees will he get back from the exchanged dollars on the

same day incase ifhé cannot go abroad due to family issue? [1A]
(1) JATTA TR FAGWATE IAATS Hid AT ATRT a7 A & g7, FROERET e T |
How much(profit or loss will he get from this transaction? Write with reason. [1HA]

. A ATIR FUH TRIHSH 3915 12 cm T ATIR qTHT A9 10 cm B | The height of the square
based pyramid is 12 cm and the length of base is 10 cm.

(&) T ATIR AUH [RITHTSHT F(qeirar FAS#R ddse® ga1 ¢ How many triangular faces
are there in square base pyramid? [1K]

(@) I MRS Aaad Hd g3, a1 as1er | Find the volume of the pyramid.  [1U]

(@ B sTeR Fageedr qiqad F.fH. 1.50 Y91HT WA IS AISal ST B @9 ang, 9l

RT3 erd | Find the cost of coloring in the triangular parts of the pyramid when the cost of
per square cm is 50 paisa. [2A]
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6. AT T FIAT THOR TR aTqedl o1 I G3UH S | Qe 3915 10 cm
T ATURHl A 6 cm B | A metallic solid consists of a cone and a

hemisphere. The height of the cone is 10 cm and the diameter of the base
is 6 cm. [t =3.14]

(F) FATHI IATS T ATIREFT ATATH [GURT TAATHT TS 3915 HAL aal
e s, «els® | How do you find the slanted height of the cone

when vertical height and radius of the base is given? Write it.
K]

(@) IHT BF T&Hl ATIAT I a34ar9 | Find the volume of the solid. [2U]

cm

(1) IFT AR 3T TEATs TR 3 cm AIATT AUH! TAATHR F&IAT IR AT I o
JAATH] IATS FIA g, TUMAT TaE | If the solid object was mélted and turned into a
cylindrical object of radius 3 cm, what is the height of the cylindex? Calculate it. [1HA]

7. Tz IREARA 9T UGS AT aASUHT AAARR CATSHIH! R _FETS, Aes T Idrs Hu
3m,1.5m7 1.6 m B | The inner length, breadth and herghtrof a rectangular tank made for

drinking water by two families are 3 m, 1.5m and 1.6m\respectively

(F) IoT TATSHIRT AT AR T 9fd 3 aFTHE . 100 &7 X IS TS QT STFAT Hid @
ARG, AT e | What is the total cost ofideléring the inner four walls of the tank at the

rate of Rs. 100 per 3 square meters? Calculate/it.

[3A]

(@) THT ARTRT TATIHIHT THT FTHT IS g TRARS SRR ¥hH (s | iafea 50 It
A T IRAR & 7HH fagaatv? If 2 families pay equal amounts for consuming water
from a full tank, how much'will one family have to pay at the rate of Rs 50 per liter?[2HA]

8. AT GRIP GABHT AT GHPT aTeaX F TR THH STHAT (g | Il Ifgal aier faaar Serm

Tkl TFH TAR ATTARASET3UH T | Anju deposits money to her daughter's piggy bank

(Khutruke) as double of previous day. The table shows the amount of money she has

deposited in first fiy& days.

afgdr fao HEIRET a9 faa =T oo qreit faq
Fi
irst day Second day Third day Forth day Fifth day
T 5 s 10 s 20 % 40 % 80

(&) AT GRIB GARHT STHAT Tl THHATE Thl AhH FHAIII a1 U & 8 ? Is the
sequence made by the amount Anju deposited in her daughter's piggy bank (Khutruke)

arithmetic or geometric?

[1K]

(@) FET FHUT THH TET TG A &1 A9 10 ff feTaemar gaar #{d 77 8797 g5 7 If the
money is deposited in the same fashion, how much money will be deposited by the10®

day?
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() TP AR TR THT STEAT T &1 99 GAHAT &, 20,000 Tars 10 f faafe a9 2 fa=
WU Y31, %R Figd Jefard | Based on the above sequence, Is 2 days enough after10 days
of deposit to collect a total of Rs. 20000? Write it with reason. [2HA]

9. TIAT ATIATHR AR AHTS ASSH I G T TFHI &a%hd 72 a7 HaX B | The length of a
rectangular field is twice the width and its area is 72 square meter.

(@) T THHIURT T WET Jdefe ™ | Write the standard form of the quadratic equation.
[1K]

(@) Ih @del dF15 ¥ Argrg 9l arserd | Find the length and breadth of that rectangular
field. [3A]

(1) IHT ATIATRR AT (6X3) FIHIHT HIAATCT ThTEE TATR T ATHTG, TET T2 | How

many pieces of land can be made with dimension (6%3) square ¥agtre in that rectangular
field? Calculate it.

[1A]
10. (®) &7 Tz (Solve.):
255 -6x5+5=0 [3A]
(@) aa T (Simplify.):
ot 2v]

11. Tt forerar Fqst LMZ, FAMTR Fadeee\XYZM ¥ NLZM USd aaR MZ T 38l FHMR
@E®E MZ ¥ XL &1 fa=rd|r avaT 39 | In the

X o N Y T,
adjoining figure, triangle LMZ, parallelograms
XYZM and NLZM are standing on the same base
MZ and between the safaeyparallel lines MZ and
XL.
M V4

(F) AR G XYZM T 9aEaR Qs

NLZM & &5 fa=reel ¥e=g «efad | Write the relationship between the parallelogram
XYZM and the parallelogram NLZM. [1K]

@) st MLZ &1 &F%d FHER aqist NLZM &1 &T0dd! AT geg, 9=l JHIT T e

| Prove that the area of AMLZ is half of the area of parallelogram NLZM. [2U]
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(A1) "TT FrHr AB//CE T AC//DE & | afe AB &l

weafag D @ 99 ADBC &I &3%ad ACDE &l N> E
EARAHT AR &g AT FHI0TT T84 | In the
adjoining figure, AB//CE and AC//DE. If D is the

midpoint of the AB, then prove that area of ADBC
is equal to the area of ACDE. [2HA]

A 5 B

12. &wsfae O 9UHI AT T3S AT LP A7 ATIRT F1d HI1 LLOP |, IRferesr &as LLMP T
ZLNP 31 O is the center of a circle. Central angle Z/LLOP, inscribed angles /LMP and
ZLNP are standing on the same arc LP.

(%) 9iferepT HIrEes LLMP T /LNP fa=reel qaw efad | Write the reldfipnship between the
inscribed angles Z/LLMP and ZLNP. [1K]

(@) sl BIThl AT (9x+2)° T IR BRI AT (4x+5)° AT x ol @i 9T T3 1a4 | The

measure of central angle is (9x+2) and the measure of ini§cribed angle is (4x+5)°. Find the
value of x. [1U]

(1) IRfIe®T HEw LLMP ¥ /LNP fa=e! aweg s SqqT it T | (FFIMET 3 cm
AT AUHT ealel gaes AaaF g 1), Expetimentally verify the relationship between
the inscribed angles ZLLMP and ZLNP. (84least two circles with radii 3cm are necessary.)

[2A]
13. (&%) 9311 PQ =7 cm, QR = 5 cm /PQR = 120" g7 st PQR &I T=AT T I FASThI
HTRAHT IR &R g ITGSQR FT 79T T | Construct a APQR having sides

PQ =7 cm, QR = 5 cm and %X PQR = 120". Construct another ASQR whose area is equal to
the area of the given triangle" [3A] A E
(@) feguer f=r=ar BC.£'€D ¥ AE//BD & W+ 9T ABC

T P57 BDE (o9l F¥e=d HRUHEd &84 | In the

given figute, BC = CD and AE//BD, what is the

relationship between the AABC and A BDE? Write .
with reason. [THA] 5 e
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14, == S@UATAR AB = 10.45m J=SHT 3ol Alad CD = 1.45 m S5 AUH &HaTdTs &al

AT B 45° IRl F | As shown in the figure,

the angle of depression of 45° when a monkey at a

height AB = 10.45m looks at a boy of height

CD=145m.

%) FATA AR AT aal IIATL HIT H(
qr3e 7 What is the angle of elevation from the
boy to the monkey's point of view? [1K]

q) daTH gy Harehl o3l Hid [HaZel AT
@, 1 3189 | How much high is the
monkey's point of view than the height of the
boy? [1U]

) FTEeE FaEFH U0 91 TRM3184 | Find the
distance between the tree and the boy. [1A]

o) G HaTATs a1 ATATTHIN 30° FATIH aA1aX
HAfeeleh! TATFATE Hid MHex T a1 AT S9s 7 When onkey looks at the boy, how
many meters down or up does the monkey move fj &ts current position to make the
angle of depression 30°? & [1THA]

15. Stear greataes faemagsr 40 ST faendier afora AT YT TH ATATSHATS TABT ATTABTHT

$3UH! B | The marks obtained by 40 stude anata Secondary School in Mathematics are
given in the table below. )
greTea (Marks) Q -10 [ 10-20 |20-30 | 30-40 |40-50 | 50-60
ferameit F=@ar (No ofSS nts) | 4 6 8 5 7 10
@) \S)\-
N
> C.f . .
%WTWW(Md)—LJr 7 X1 |l QA% 9SG | What does i

N

f
represent g),m the formula for finding the median (Ma) =L + < X 1. [1K]

Q) fagusl qaEFae Afg® 9d1 as1ard | Find the median from the given data. [2U]

) feSUFr TATEFATE AT qrargsw TUET T | Find the average score from the given
data. [2A]

o) fqadiEed! iaa Irs® 30 TASH 50-60 aMwava faardl Igedr Fid gi9s 7 =T T
etz | What should be the number of students in the class with 50-60 in order to
make 30 as the average score of students? Calculate and write it. [1THA]

16. TAHET TRICTH 52 T ATHAH! TESATE Ta<lhd ISACT ATHEE THATG oAbl T IH: ATEIHA

fwfeT®l & | Two cards are drawn randomly one after another without replacement from a

well shuffled deck of 52 cards.
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(@®) afc A T B T3 3T AINT "eA@E g1 99 P(ANB) A1 a8 97 & §79, delerd | If
two events A and B are independent events, what is the formula for finding P(AnB).
Write it. [1K]

(@) T3 ATAATER AUHT T GEATAAT Hiq g5, TAT SMee ™ | Find the probability of
getting both are faced card. [1U]

() AER TUH aF I 3 99 g JEATMGT TRUMTHEEH! GRS JET=TdT SErSe |

Show the probability of all the possible outcomes of getting or not-getting face card in a
tree diagram. [2A]

() TTE TZATST ATTEE THINS, RN LT I IAERT 9 AT ATER TTHT I TEATAT o AT TR
O FEATEAT AR & UM el g7 ¢ If two cards are drawn randomly one after another

with replacement, how many times more is the probability that e faced cards than
the probability that both cards are ace? @Q [1HA]

\0
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